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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

2405 + 5=
210+ =35
_ +8=50
 +7 =509
 +6=15
309 + =387
246 + =41
6503 + 7=
_ +5=59
4890 + =815
. +4=31

+8 =29

744 + =372
1876 + =268
939 + =313
 +8=1350
1260 + 2=
4992 + 6=
252 + 7=
216 + =24
4515 + 5=
147 +3=__
£+ 7 =145
4,854 + 6 =
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Missing dividends and divisors

Multiplication Practice Worksheet

Find the missing numbers.

2,405 + 5 = 481

210+ 6 =35

400 =8 =250
3,963 + 7 = 509
90 =6 =15

3,096 + 8 = 387

246 + 6 = 41

6,503 + 7 = 929

295 + 5 =159

4890 + 6 =815

124 + 4

31

232 +8 =29

44 + 2 =372

1,876 + 7 = 268

939 + 3 =313

2,800 + 8 = 350

1,260 + 2 = 630

4,992 + 6 = 832

252 + 7 =36

216 + 9 =24

4,515 + 5 =903

147 + 3 = 49

1,015 + 7 = 145

4,854 + 6 = 809
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